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A =2y + x? - 3xy, B=—4x? — 2xy + 5y?

D 5x% —2xy + 3y? @ 5x% — xy - 3y?
® 5x? + xy + 3y? @ 5x% + 2xy — 3y?

3 5x2 + 3xy + 3y?
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(4x* =5x3 +3x2 —dx+ 1)+ (2 —x+ 1)

@ 4x2-3x+2 @ 4x%2-x-2 @ 4x?-2x+1

@ —4x2 —x-2 B —4x2+x-2
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D x? + 4y? + 9z% — 4xy + 12yz — 62x
@ x% —4xy+4y? — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y* +12yz+ 922 + (—4y - 67)x + x2

® 922 + 4y? + x?
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@© m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab + b?

® (a-b)(a+b)=a®-b?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b%=(a+b)>-2ab
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8.  (6x%—x? = HAE bt S W, a+bs
—x*=5x+5)+(2x~—
S5HAE? ) ( X 1)0 H= a, UmzlE pet & a+b

@ 3x2+x
+1 @ x?
X2 4+x+1 @ 3x2+1

@ x2+x-—
x—1 ® 3x2+x
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@ (x=y-1?=x>+y" +1-2xy-2x-2y
@ (a+b)?*(a-b)?=a*-2a?b* + b*

® (—x+3)3 =x%-9x% +27x - 27

@ (a-b)(a®>+ab-b?) =a>-b?

® (p-D({P*+D(p*+1)=pt-1



O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a2 + 4b* + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x>+38

(xQ—xy+y2) (x2+xy—|—y2) =x4—x2y2+y4
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® (x-1) (x+1)2=xt-2x2+1
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16. x+y+z=1, xy+yz+zx=2, xz=3 LW, (x+y)(y+2)(z+x)
o] k& +otH?

@D -2 2 -1 3 0 @ 1 B 2



A

17. o 4

St

1219

ftlo
ftlo

A %

flo

AF

D (x-y-2)2 =x2—y?—72 - 2xy + 2yz7 — 2zx

@ (3x-2y)% = 27x3 — 54x%y + 18xy? — 8y3

® (x+y)(x=y)(x* +xy =y (% —xy +?) = 27 =
@ (x® = 2xy +2y?)(x% + 2xy + 2y2) = x* + 4y*

® (x4+y-Dx2+y?—xy+2x+2y+1) =x>+y3 -3xy -1
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